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PEGEBERR CREALSE 5 NS, 8N 455, 3520 50 BNERA AT &R . # B
R ARE—NET, 23R, 12808 0 4 IERE SRR AL, Hig— > BIERKNE 2 59, EH
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11. D 12. AC 13.B  14.BC 15AD
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16. (1249
(D SRR, IPURIGEZR, e TRmETE
(2) MRS, BRI NHE NG I KE, NHHCOs 73 fif
Fe(OH)3. SiO;
(3) 8.0x10%

-
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(4) 3[Zn(NH3)4]CO3 + 2H,0=="= ZnCO03-2Zn(OH); + 12NH3T+ 2C0,T
(5) NH3
17. (1349

(1) 6Fe?* + ClOy + 6H* ====6Fe* + CI + 3H,0
NG SR VR AT CIER HY, 2548 KMnO4 i T RE (2
(2) OIEETE, HaO2 43 s L ik
@Fe?* PIEALAE FI M8 H20, 23 fif 8 2 i
(3) 2Na*+ 6Fe3* + 45042 + 6CO3% + 6H,0 ::§=Na2Fe6(so4)4(OH)12¢ +6CO,T
R EEW, M KSCN &R, # R AZLL, T E Rl 584
18. (1243
(1) BRZEHEMHH IR HSOs (B SO2)
(2) 5V0? + MnOg + H,0 = 5VO,* + Mn?* + 2H*
(3) n(NH4*)=0.1>50.00>10 mol—0.1>20.00>10 mol =3.000>10 mol
n(MnOy’) = 0.06000>25.0010- mol = 1.500x10-3 mol
N(V10028%) = 1/2x1.500<10- mol = 7.500><10* mol
X : 1=3.000<103 : 7.500x<10* x=4
A 1230 (NH4)aH2V 10028 10H0 (8 43)
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19. (1540
(1) 4H"+2NO; 42 = I+ 2NOM2H,0  NaClO
(2) 52 #Rg Tk
(3) FHES IR RE
(4) I\ CCla ¥R, HE, 2l (BN CCl 2D, FHUERR M (BN 5% AR, HinA
CCla ZH)
I RSN S%TE My I ANAE W, F523 7003 0 6mol L1 HoSO4 3. 0.1mol L1 NaNO, ¥,
B, UEAMEE 3. (349
20. (14 40
(1 5c+b—2
(2) Oz e EIRE T 55 fi;  NaNOs
(3) SO, MEATHFE T D& O3, W/ T Os I ab
(4) 2CO(NHz)z+ BNO=EAE=5N,+2CO+4H,0
CO(NH2); — 6 +80H =CO3 +Nz1 +6H,0
21. (1449
(1) Fe. S (EEL. D
PR CR IR R ] Mn2*7K fig
(2) Feo(SOu)s + 3H;0 +3CaCOs = 2Fe(OH)s + 3CaSO4+3C0,T I
(3) Ee#itje FH 80°C~90°C [y 75 1B /K% 2~3 Ik
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